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475583 = 475583 x 1
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2P + 1 = 2(510510n + 237817) + 1 = 10210201 + 475634 + 1 = 10210200 + 475635
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P = 510510n + 237827

2P + 1 = 2(510510n + 237827) 4+ 1 = 10210201 4 475654 + 1 = 10210200 + 475655
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P = 510510n + 237829
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2P + 1 = 2(510510n + 237889) 4+ 1 = 10210201 + 475778 4+ 1 = 10210201 + 475779
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Q=2378990000
P = 5105100 + 237899
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2P + 1 = 2(510510n + 237901) 4+ 1 = 10210201 + 475802 + 1 = 10210201 + 475803
0000010210200 20 2003,5,7,11,13,17000000 10000000
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475863 = 3 x 158621 x 1
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Q=2379430000
P = 510510n + 237943

2P 4+ 1 = 2(510510n + 237943) + 1 = 10210200 + 475886 + 1 = 10210200 + 475887
0000010210200 20 2003,5,7,11,13,17000000 10000000

475887 =3 x 41 x 53 x 73 x 1
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P = 5105100 + 237947

2P + 1 = 2(510510n + 237947) + 1 = 10210201 4 475894 + 1 = 10210200 + 475895
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475895 =5 x 7 x 13597 x 1
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2P 4+ 1 =510510m + 475919
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P = 5105100 + 237973

2P + 1 = 2(510510n + 237973) + 1 = 10210201 + 475946 + 1 = 10210200 + 475947
0000010210200 20 2003,5,7,11,13,17000000 10000000

475947 = 3 x 3 x 52883 x 1

oooo
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284



goooooogvyoUooOOoO0oOoU0OOoU0OO0DOOU0DOOoU0ODOU0ODOOUODOODOOUODOO
goo

Q=2379970000
P = 510510n + 237997
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476003 = 11 x 109 x 397 x 1
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o0o0ooooOovy0O0o0o00o0o0oOOo00O00DOO0DOD00DOO00DODO0ODODOO0ODODODOOO
goo
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2P + 1 = 2(510510n + 238033) + 1 = 10210201 + 476066 + 1 = 10210201 + 476067
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476067 = 3 x 31 x 5119 x 1
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2P + 1 = 3(340340n + 158689)
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P = 510510n + 238039
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